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Interpretation of the Correlation Coefficient
and the Regression Equation


A regression equation relates the price (P) (in dollars) of a used Honda Accord EX (four doors) with its age (A) (in years from the current model). The regression equation is 
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P

 = 22305 – 2108A and R2 = 0.64.  For this regression:


1.
Identify the
response variable  ____________




explanatory variable  ____________


2.
give the slope (include units)
______


3.
interpret the slope with respect to this situation and this regression (your response should have to do with the age and selling price of Honda Accords)


4.
give the y-intercept (include units)
______


5.
interpret the y-intercept with respect to this situation and this regression

6.
What percent of the variability in price of these cars is being explained by their age?




______


7.
Name at least two other factors that may have an effect on the price that aren’t taken into account by this regression.


8.
find the correlation coefficient, r
______


9.
find the residual for a 4 year old Accord that sold for $13,500.




______


10.
Based on this regression equation a 12 year old Accord would sell for  –$2991 (a negative amount – they would have to give someone almost $3000 to take the car!!! I want a deal like that. What went wrong?
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